
3−003130−F03−003130−L0 MF590−50, B4_05

∆ a / croma relativo  C*r

0

5

10

0,3 1,0 2,1a = x / y
∆ a=diferencia cromaticidad

0 ... 10
T P

croma relativo:
C*T = 1,0
C*P = 1,5

umbral



3−013130−F03−013130−L0 MF590−51, B4_05

∆ a / croma relativo  C*r

0

5

10

0,3 1,0 2,1a = x / y
∆ a=diferencia cromaticidad

0 ... 10
T P

croma relativo:
C*T = 1,0
C*P = 1,5

umbral



3−103130−F03−103130−L0 MF590−52, B4_05

∆ a / croma relativo  C*r

0

5

10

0,3 1,0 2,1a = x / y
∆ a=diferencia cromaticidad

0 ... 10
T P

croma relativo:
C*T = 1,0
C*P = 1,5

umbral



3−113130−F03−113130−L0 MF590−53, B4_05

∆ a / croma relativo  C*r

0

5

10

0,3 1,0 2,1a = x / y
∆ a=diferencia cromaticidad

0 ... 10
T P

croma relativo:
C*T = 1,0
C*P = 1,5

umbral


